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1. ABC ony, a manufacturer of qual:ty handmade walnut bowls, has a
steady growth in sales for the past five years. To prepare for next year’s market
campaign, the company’s controller has prepared and presented the fOllOWlIlg

data for the current year, 19-8:

Variable costs (per bowl)
$ 8.00

Direct manufacturing labor

Direct materials 3.25

Variable costs _2.50

(manufacturing, marketing & admmlstratlﬁn) |

Total variable costs $13.75
Fixed costs

Manufacturing - $25,000

Marketing 40,000

Administration 19,000
Total fixed costs 135,000
Selling price per bowl ' $25.00
Expected revenues, 19-8 (20,000 units) - $500,000
Income tax rate 40%

Required: (16%)
(1) What is the projected net income for 19-8? (3%)
(2) What is the breakeven point in units for 19-8? (3%)
(3) If the additional $11,250 is spent for advertising in 19-8, what IS the required
19-8 revenues for maintaining the same net income as in question (1)? (4%)
(4) If the company needs to pay bond interest 65,000 and dividend 42,000 in 19-8,
What the projected sales is needed at least in 19-8? (6%)

2. Fashion Flair operates a chain of 10 retail department stores. Each department

store makes its own purchasing decisions. Barry Lee, assistant to the president of

Fashion Flair, collects the data for the most recent year for ten retail department

stores of Fashion Flair. Then he decide to use regression analysis to examine

whether one or more of variables are cost drivers of Purchasing Department

costs (PDC). Summary results for use these regressions are as follows:

Model Description by Variable Coefficient  (Standard |[t-value
 lerror . |
Constant $1,039,016] $343,439 3.03
i Independent variable 1: MP$ 0.0031 0.0037 0.84
R® = .08 Durbin-Watson statistic = 2.4]
Constant | $730,716] $265,419 . 2.75
2 Independent variable 1;:NPO $156.97 $64.69 2.43
R’ = .42 Durbin-Watson statistic = 1.98 |
Constant $814,862| $247,821 3.29
3 Independent variable 1:NS $3,875 31,697 2.28
R* = .39 Durbin-Watson statistic = 1.97 |
Constant | $485,384| $257,477 1.89
4 Independent variable 1;:NPO $123.22 $57.69 2.14
Independent variable 2:NS $2,952 $1,476 2.00] -
R*=,63 Durbin-Watson statistic = 1.90
Constant $494,684] 3$310,205 1.59
Independent variable 1;: NPO $124.05 $63.49 1.95
5 Independent variable 2: NS $2,984 $1,622 1.84
Independent variable 3: MP$ -0.0002 0.0030 -0.07
R* =.63 Durbin-Watson statistic = 1.90

MPS: Dollar Value of merchandise purchased

NPO: Number of purchase orders

- NS: Number of suppliers
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The coefficients of correlation between pairwise combinations of the variables

are:
PDC MPS  INPO
MP$ 29
NPO .65 27
NS .03 .34 29

Require: (24%)

(1) From model 1-3, which one of cost model would you recommend for Barry
Lee? (8%%) |

(2) Comparing models between 4 and S, please chose one for the company and
present your reasons. (8%) |

(3) What ditficulties do not arise in simple regression analysis that may arise in

multiple regression analysis? Is there evidence of such difficulties in either of the

multiple regressions present in this question? Explain. (8§%)
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(1). EREREFEA B, SRR - NNNEESZFTEES T? 3%)
(2). FFNERAHEINRE ) RES RZAZFECEH). (5%)

(3). TTIEENASBEEARE AN Tk i, PR AT T

H

RPN EE (eS| 7 SRR AT
$16 120,000
17 100,000
18 80,000
19 - 70,000
20 60,000
FELCEAA T, WIEE BAS AR KRR, RIMESER AT TE? (5%)

(4). HRIBQ)Z R, WA THRABETISETE, NI Ca R fE A E TS
A2 EBEFE? (4%)

4. ZFFNE] 1997 FHRBEIRNAEERZBRFEREUT

SR (25,000 * $40) - $1,000,000
IR 1
TR (1,000 * $24) 24,000 )
BRI SRR (29,000 ¢ $24) 696,000 |
HIREE (5,000 * $24) - -120,000
LB ST = 5% N $600,000
SRR RS (25,000 * $1. 2) - 30,000
A AN . 630,000
2R E R - $ 370,000
| AN 1
] 76 BRGSO 120,000
| A AN 190,000
| 1B AN 310,000
%:%%Uﬁ | . , $ 60,000
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